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1 T SHFEPE LT 32098240 236 100. 0 100. 0
2 5 =ZHFF AT H503768 224 100. 0 100. 0
3 T SHFEHR1T H 1281144 286 100. 0 100. 0
4 L p HFFE LT H 2554244 175 100. 0 100. 0
5 T SHFEHAT H 1657 175 100. 0 100. 0
6 =] RE2T H103%6 168 100. 0 100. 0
7 e RS H23% 104+ 153 100. 0 100. 0
8 =] TE1T B 1%+ 129 100.0 100. 0
9 e RS T H3%25 121 100. 0 100. 0
10 P RE2T H116%5 163 100. 0 100. 0
11 P RE1T H46%35 134 100. 0 100. 0
12 L HFZE 2T H 145 141 159 100. 0 100. 0
13 W7 =HFEFELT B82%17 161 100. 0 100. 0
14 P FaRT2T B 125%2 51 100. 0 100. 0
15 P =HFFE 1T H502%13 171 100. 0 100. 0
16 T ZHFFERIT H19%5 149 100. 0 100. 0
17 P SHFE AT B 1457 144 100. 0 100. 0
18 L ZHFEEH6 T H3%S3 142 100. 0 100. 0
19 d=gES TF-E17T H808%F424} 126 100. 0 100. 0
20 L T1T H809% 64+ 131 100. 0 100. 0
21 d=gES TE1T H22%102 114 100. 0 100. 0
22 L T 1T H33%17 82 100. 0 100. 0
23 e N3 T H 1316 123 100. 0 100. 0
24 T TRAT H10%3545 118 100. 0 100. 0
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25 L FR2T H13%21 111 100. 0 100. 0
26 E=gEs FRST HbE14 111 100. 0 100.0
27 T mEINE2 T B 129%53 104 100. 0 100. 0
28 e A BN 3T H 272859 104 100. 0 100. 0
29 W FENE6T H 175583 98 100. 0 100. 0
30 E=gEs #BIT1T H 6324 97 100. 0 100. 0
31 T FBRT3T H 16718 94 100. 0 100. 0
32 E=gEs HBIT3 T B 137 107 100.0 100. 0
33 T M3 T H15%9 102 100. 0 100. 0
34 E=gEs /NKPE2T H 634 113 100. 0 100. 0
35 T epr2T B 15%28 135 100. 0 100. 0
36 SLaEs JeFF1T B 13%24 128 100. 0 100.0
37 ek Jek2T B5%25 128 100. 0 100. 0
38 T JLBEIE1T B8E16 118 100. 0 100. 0
39 ek SRS T H32%3 130 100. 0 100. 0
40 e JREAT H109% 2244 133 100. 0 100. 0
41 ek SRIEST H32%13 113 100. 0 100. 0
42 LA RE3T H106%4 144 100. 0 100. 0
43 d=gES RE3T B 15%&574+ 135 100. 0 100.0
44 LA SRS T H113%2144 138 100. 0 100. 0
45 d=gES RE2T H20%8 133 100. 0 100. 0
46 LA JRIE1T H305%14 147 100. 0 100. 0
47 d=gES REL1T H30%ET 137 100. 0 100. 0
48 e JRIELT H37%S 149 100. 0 100. 0
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49 e ZHFFE 3T H8E2 151 100. 0 100. 0
50 e —HFZE 3T H 7634 123 100. 0 100. 0
51 Tl ZHEMELT H2%S 157 100. 0 100. 0
52 L SHFEPELT A 33%65h 163 100. 0 100. 0
53 e ZHFEPELT H263%3 181 100. 0 100. 0
54 e #BIT2 T H 379 104 100. 0 100. 0
55 inEs ZIFFE 1T B 25%34 155 100. 0 100. 0
56 BHE T 53T A 19755+ 147 100.0 100. 0
57 DFE MBS T B5%E11 130 100. 0 100. 0
58 BHE FR5T H18%6 116 100. 0 100. 0
59 {FiRES B3 T B 2%805 113 100. 0 100. 0
60 B A EME6 T H 1% 1294+ 129 100. 0 100. 0
61 {FiRES EBIT2T H11%341 114 100. 0 100. 0
62 B TE3T H1E9 141 100. 0 100. 0
63 {FiRES REEAT B107%27 120 100. 0 100. 0
64 B SRE3T H103%F2044 142 100. 0 100. 0
65 DFE SHFEPE2T H 1522 131 100. 0 100. 0
66 [iRE= SHFFE 1T H27E 1644 199 100. 0 100. 0
67 KL FABME LT BA478% 34} 48 100. 0 100. 0
68 KL HRET2T H & 144 30 100.0 100. 0
69 KL FEEANET T B 1&55h 49 100. 0 100. 0
70 KL FEENE6 T H 1% 144 62 100. 0 100. 0
71 /T =HFEHR2 T H20137 88 100. 0 100. 0
72 /T SHFEH3T H112%1 64 100. 0 100. 0
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73 /T =HFEEH3T H2%3 58 100. 0 100. 0
74 /N NIRRT B 290710 63 100. 0 100.0
75 /T YVR1T HAFESSh 51 100. 0 100. 0
76 /T FA AN 4T H 46133 43 100. 0 100. 0
77 H/ T A ENE6T H 173153 44 100. 0 100. 0
78 /T BEBTS T H 653414 45 100. 0 100. 0
79 /T BN T H8%90 60 100. 0 100. 0
80 H/N T ANRPE2T H 19%17 93 100.0 100. 0
81 /T T-E37T H22% 154+ 112 100. 0 100. 0
82 M/ T EMELT B1754 63 100. 0 100.0
83 /T RE6T H8%26 51 100. 0 100. 0
84 /T RE6T H3%59 73 100. 0 100. 0
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